Product Mix Problems:
Problem 1
[bookmark: _GoBack]Company A is trying to find out the product mix which will give it the maximum profit. It produces 6 products and the information for all of them is as follows:
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In order to solve this problem the following are the constraints:
1. Total labor used can not exceed 4500
2. Total raw material used can not exceed 1600
3. Production quantity can not exceed the demand quantity
4. Production of product can not be negative
Find out the solution using Excel solver. 

Problem 2
[image: ]

image1.png
Product | Labor | Raw Material | Unit price | Variable cost | Demand
1 6 32 S 12508 650 960
2 5 26 s 11.00[$ 570] 928
3 ] 1.5 s 000s 360 1041
1 3 038 s 7.00[s 280 o717
5 25 07 S 600[s 220 1084
6 1.5 0.3 $  3.00]$ 1.20[ 1055
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A computer manufacturing plant produces mice, keyboards, and video game joysticks.

‘The per-unit profit, per-unit labor usage, monthly demand, and per-unit machine-time
usage are given in the following table:
Mice Keyboards Joysticks
$8 $11 $9
2 hour. 3 hour .24 hour
Machine time/unit 04 hour 055 hour 04 hour
Monthly demand 15,000 29,000 11,000

Each month, a total of 13,000 labor hours and 3,000 hours of machine time are
available. How can the manufacturer maximize its monthly profit contribution from the
plant?





